. Prove that the reciprocal lattice of FCC is BCC.

fag =ifst f6 FCC wer 1 =gehA st BCC ¥
. Explain the positive and negative dislocations.
YA U9 RUTHS fedaishy™ sl THEEU |

. Discuss the quantisation of elastic waves.

YIRS T & SR hl THHAEU |

. What do you understand by the Einstein model

of specific heat ?
A=A % fafere o Aed ¥ o9 = FHe ¥ 2

. Explain the effect of temperature on the Fermi-

Dirac distribution function.

wHi-feteh famor ®we W d™ & Y9E i GHHEY |
. Explain the Pyroelectricity.

TSRS S HHEET |

. Explain the entropy property in Superconductor.

sifaarerss | TR T Sl TSy |
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

et - w® ywA-m ‘1’ SR ‘e ) mel # fawfsa ¥ wee
TUE & FRIgER I9 & W

Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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QuS—31
(atfa &g 3T ue)

Fdor - Tt gl SR NI o ST W AT YIAER

TH Ve, Th 9 a1 SAfeshan 30 vissi it
HIT | TAH I 2 3Thi & g

1. (i) What do you mean by the Cooper Pair ?
W JH Y 3T F1 T § 2
(i1)) Define Meissner Effect.
HEHER W& i FadBl |
(iii) State the Bloch T3/2 Law.
iR T3/2 faw =1 fafew )
(iv) What is meant by the Curie Temperature ?
F{ A9 Y P qd T 2
(v) Explain Larmor’s Precession.
AR GLEER 1 HHAET |
(vi) Give some examples of the Piezo electric
materials.
TS Saifes TeIdl & HS IS0 ST |
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(vii) What is meant by Direct and Indirect Band
Gap ?
TEEE a1 TASKER dU8 <N | N aredd
T2

(viii) Define Elastic Energy density.
TR Sl T hl TR i |

Section-B 4x16=64

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 16 marks.

QUE—H
(g T q9)

fcor .- for=l 9 9vHl & SR STl A A9 SR &I
afereRad 200 ISt H ORI wifSwl s 999

16 371 =1 B

. What do you mean by the Miller Indices ? Find

the Miller indices of a plane whose intersects on

the three axes as 2a, —3b, 1c respectively.

foeR o | F1 Al ® ? 24, — 30, 1c SF<EE
A THAA & fHOR gEeE A it |
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